(BlsR2) kg

6458230

LGS

i f-Hhish AT E REREEHEE R EEAEKFRICLDHEE
KB NI HER)IGRE=16.5 EE IS KR RIE=(8, 10.8) jiciul[ljl;?]i[#mﬁ],
prll| ,
RIKRBERNFRE (BB )IA KR (BR)IK
1) - 5B - IR BANE - B I35 K &t (R8I K L) -
8- AFI5- 215 S B X -RF - SR KE]
SENIK R ) - =B [=E - F s
4L KPR ELhH B34 )11 FRiE=5, RIFRE=(11, 3.2) EINRA]L
K= )I|Fiig=10.4, BRNLNF],
FE)IFRE=11, RNKZ ) - LB [=E - FHE]
B IRE=7.1,
RIFE=3.8
AT SR FRiE=6.6, STIR)GRE=(12, 5.6) BRINF]
EmlReE=123,
REF)FRE=16
W H T S H)IIFRIE=6.6, W NIGRE=(12, 9) IR A]T
WA JIFE=10, RNKR ) - LB [=E - FHE]
= IE=4.3
=T F)IRiE=16, ZE)IRE=(11, 6.7), ENIKA],
Z#A )| E=8, BEFE=(11, 89) RNK R - =R [ZE - FmAs]
BE)IFE=98
RA™ KRIE)IFEkEE=738, — RINEA],
TANI =156, RNKZ ) - LB [=E - FHE]
ZELIIRE=19.8,
{ER)FR18=10.7
EmEh TE)II5RE=7.6, — —
EmIRig=11,
E)IFR18=5.3
2 LI JIRE=10.5, W NREE=(11, 9.4), ENMA]L
KIEJIFRE=9.9, RE)IFE=(19, 16.6) RNKZ ) - LB [=ZE - F%iE]
E#)II5RE=7.7
SAHET TR RE=10.6 RIFRE=(21, 51.2) RINHA]
ZHEHT RENIGRH=9.9, - -
MBI Fii=6.9
HEZET —E - RBER)IFE=19.2, — -
PRI =8.3,
HRIFRE=11.3
HERKBR SO - ENI[A],
RINKRERIRE[BER)IAKE (BE)IK
1) - TG - IR BAHE - B I3 K kit (BB )1IK L) -
E#E - KFI5- 215 S EKIE- 2T - EIRKIE]
wA™ KE)IGRiE=18.4, KB FRt=(9, 13.3), ENN#&A]
TER)FRE=106, MaRE ) Frteli=(9, 9.2),
HetE)IRg=9.5 = (9, 79.3)
J\E AR )1 iE=3.7 — RFENITFimMER],
RIKZRER)IRE RR)AKG (BRIK
1) - 4G - IR S - B I 5E K &t (RS 1K L) -
E#E - KFIE- 215 S EKIE- 2T - EIRKIE]
BEIH EBRIIRE=8.6, ERIRE=(10, 7.8), IR A]L
wIFRE=4 BEJIIFLE=~10, 12), EINKREBERIRE B R)IAKEH (BE)IK
w1IFE=(10, 3.3) i) - TG - FR RS - B 1A K kit (BB )IKEL) -
& - K FI5- 215 - S EKIE- 2T - EIRKIE]
AE™ #RE ) RE=7 ERIRE=(11, 5.2), RIKRER)IRE [RRE)IAKG (BE)IK
HEBR)IIFRIE=7 BEIRE=(11, 17.8) £I) - IRA5 - FRBAYE - B2 A K& (BE )KL -
E#E - KFIE- 215 S E KGR T - EIRKIE]
taRm SEBIFRE=(9, 2.6) KINITmiHaR],
KFNAKRBN[ER KRG EFHE]
RIKREBERNIFE BB )aKRH (BR)IK
1) - A5 - FREARE - B 1A K& (B8 )KL -
& - K FI5- 215 - S EKIE- 2T - EIRKIE]
RELH BEEIFRE=(9, 13.3) RN A],
RIKZRER)IRE RR)AKG (BERIK
1) - 4G - FRBAHE - B I 5E K &t (RS )1IK L) -
E#E - KFIE- 215 S EKIE- 2T - EIRKIE]
EPNTT ERE) =15, 10.3) ENKFRE R [BRIE KR (REIIK
1) - S - FREARE - B )1 A K& (B )KL -
- KFI5- 8455 BXE- &Y - TR K]
o {EBR T iﬁiﬁlllﬁiﬁ#.s, ERIRE=(11,7), RIKRER)IRE [BR)IAKEH (BR)IIK
HBRIFRE=7.7 BEIiE=(9, 14.2) 1) - TAG - FREARE - B I Ak ki (B E)IIK AL -
E#E-KFIE- 215 S EXIE- 2T - EIRKIE]
B2 KB I 7i=15.9, RE)I7sl=(9, 138), =

3t )15k E=8.7

de)ilRigi=(12, 8.3)




(BlsR2) kg

6458230

mETH %%
FLHT-hiE

LiIESE

REREEREE

HaRE

EEANISKFPRICLHELE

FATA

EEAS

R RE=6.2,
FR)IIFE=14.6,
i) FRE=7.7

KHNIKRBN[ERBIKE- EFHE]

ARRET

kR RiE=7,
KR EH=16.3

RHNKRBN[ERBIAE - EFHE]

IR

FaRR)I =157,
BRI FRE=14

RAVITRIHAER]

HREH

RERNIFRE=12

KAV R AAE],
KAVIKRBN[ERBIAE- EFHE]

[ it

KAV AAE],

ARk

BRI =9.1,
BRI =3

ARRIIGRE=(8, 8.1)

KAVIKRBN[ERBIAE - EFHE]

XFHT

MRS JIRE=8.7,
AFH)RiE=58

RHNNKRBN BRI EFHE]

ST

#1157 15=8.9,
FR)IRE=144

RANKRBNEBIAE - EFHE]

FERRH

FERINIFREE=141

SR

Hh

R 5RL=10.8,
RER)IRE=8.8,
i) Rig=25,
FE)IGRE=11.5

A=, 9.7)

RANITRIHAR]

FAJIRE=107,
EHIRE=12.1,
WEJIIRE=108

RiZNDKRF RN LERE]

KZNKRKZN-AERN 1],
KEBNKREFENIUEFE]

=114,
SEARN =137,
R )RE=9.2

EARINGFRER=(7, 13.1)

RIEFH

R 15RE=9.6,
£ )IFRE=10.8,
BIHIFRIE=15.9

{EEF)I3IE=(8, 9.3)

FOR™

WEJIIRE=10.6

HWEENIFRIE=(8, 16.1)

KZNKRKZN-ERN 1],
KEBNKREFENIUEFE]

=am

EHJIIRE=5.6,
FF)IiRE=8.1

RET

HEJIIFRE=23.2,
FRIGFEE=9.6,
EREF)IIRE=147,
BHIRE=19.4

WRra T

BE)IlfiE=237,
ZENIGRE=9.2,
SREF =147

B RERT

REZNKRKZN-HEENI[)IPHE],
KBNKREFFENIUEFE]

REHXET

R I7RE=6.4,
FEFH =25,
’LWJIFRg=6.8

R IRE=(6, 6)

BHImiE=194

Zlimig=12.2,
RIGREg=11.1,
RIRiE=12.9,
7611 5%15=8.9

Y (REREEY AEFEER ORASOEICIIREEERLTVET,




